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QUESTION 1

What network component(s) is/are shared in the gateway core network (GWCN) sharing architecture model?
A. Only E-UTRAN is shared

B. Only MME is shared

C. E-UTRAN and MME are shared

D. MME and PGW are shared

Correct Answer: B

QUESTION 2

Which of the following statements regarding a tracking area list (TA list) is TRUE?
A. The location of an idle UE is known by the network at an eNodeB granularity.
B. The location of an active UE is known by the network at a TA list granularity.
C. All the tracking areas in a TA list are served by the same MME.

D. A tracking area list is a logical set of MMEs.

Correct Answer: B

QUESTION 3

Which of the following statements regarding paging policy is FALSE?

A. Paging method defines which forwarding path is used to forward the paging message to eNodeBs

B. Paging policy defines paging procedures used by MME to page an idle UE

C. Paging timer specifies the time to wait for a response to a paging request message

D. Paging attempt specifies the number of times MME tries to page a UE before the UE is deemed non-responsive

Correct Answer: A

QUESTION 4
Which of the following statements regarding an EPS dedicated bearer is FALSE?
A. A dedicated bearer is any EPS bearer to a PDN that is already connected to the UE.

B. A dedicated bearer can be either a GBR or non-GBR bearer.
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C. A dedicated bearer remains active as long as the UE is attached to EPS.
D. A dedicated bearer uses the same IP address that was allocated for the associated default bearer.
Correct Answer: B

Reference: https://www.mpirical.com/glossary/gbr-guaranteed-bit-rate

QUESTION 5

Which of the following statements regarding handover is FALSE?

A. Handover can occur when UE is in ECM-CONNECTED state

B. S1-based handover is used when X2-based handover attempt failed

C. During X2-based handover, MME may remain the same or be relocated

D. S1-based handover is used when there is no X2 interface between source and target eNodeBs

Correct Answer: C
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